1. According to the census 2011, which of
the following district of Rajasthan has

maximum tribal population ? ﬂ

(A) None of these (B) Udaipur
(C) Jaipur (D) Bikaner
SO 2011 3 AR, P # 8 Toe &
H A et & a7fRrepan ST SEE 8 ?
(A) FHABETE (B) IR

Cicaetd

L) Ja3 (D)

@ Who is responsible for planning and
implementation of Mahatma Gandhi
National Rural Employment Guarantee
Scheme ?

(A) District Rural
Authority (DRDA)
(B) State Government
(C) Gram Panchayat
(D) Gram Sabha
TrgTenT Tieft T TTT TSR TE FroET
¥ e 3R fREreea % o ®F

FAEER & 7
(A) fren arefior fapmer STférHTeT (DRDA)

(B) T 931K
(D) T T

3. Following battles are mile-stones in
History of Rajasthan : :
1. Battle of Khanwa
2. Battle of Bhatner
| 3. Battle of Sumel-Giri
4. Battle of Haldi-Ghati
i Arrange these battles in correct datewise
i chronological order and choose the
correct answer : '
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ing Rajput Sardars
.+ of the following : i
g:ghwtt] with favour of Rana Pratap inthe

pattle of Haldighati ?

1, Ram Singh Tan (Ram ok 2

9. BidaJhala .
3. Rawat Krishandas Chundawat :f"

4. Madho Singh Kachwaha . 3
Choose the correct answer from the given

codes : -
(A) 1and3 (B) 2and 4 -
(€) 1,2,3and4 (D) 1,2 and 3 4
ﬁﬁ%ﬁﬂﬁﬁﬁ?ﬁwmm j
#gzﬁwm%wﬁa%ﬁ? g
B {mftig ek (T 918T)
3c NEGERIEUE CIED] ‘
4. wTHE HSATEI
ft T el o YR T HE I 1 =7

HIfer ; . | g
(A) 13 (B) 2TE4

(©) 1,2,3@ 4 @1,2@3‘3

T
[ |

Name of birth place of Tejajiis
(A) Dadrewa (B) Khadnal ' ‘:r-
(C) Asind (D) Kolu ¥
SERER T RO E ok s S

(A) g

(C) efe ’
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AR (C)-
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Rajasthan Inform,
established on g

(A) April, 2009 (B)
(C) April, 2006 () ﬁne, 3004
T G T ) o200
(A) 3T, 2009 = (B) 2?0435“1
© 3, 20069 (D) w, 2008 7

tio :
N Commission is

Which Article of th .
? el el
deals with the app’;‘ijr‘l?;;(:nsntutmn

responsibility, , tenure,

qualificatio P
: n, salaries an
allowances of the ministers of state ? ;

(A) Article 207 (B) Article 162

(O) Article 265 (D) Art;
et | % S anq_:’d; 1%‘;{ N

o f e

) e, e,
(A) T8 207
(C) =BT 265

N 1
U‘

(B) sz 162 ©
©) F=de 164

. In Rajasthan, how many Legislative
~ Assembly Constituencies are reserved
for the candidates belonging to the
Scheduled Castes and Scheduled Tribes
respectively ?

e & Fora T e g - & A
Sife o sgfE S
safread) 3 for SRfE € 7
(A) None of these/ (B) 34,25
&7 U IS el
(©y 25,34

The subject of ‘Mundiyar Ri Khyat’ is
(A) Chauhan of Sirohi

(B) Hadas of Bundi

(C) Sisodiya of Mewar

(D) Rathores of Marwar

e 1 T €

A) RO@ HEEE

®) f@FESr

(C) Yare ¥ R
) TERFTEE

(D) 36,23

‘[11 .;J

Which of the following pair of different

stages of unification of Rajasthan and
relevant dates is incorrect ?
Stages of Dates
Unification

(A) Fifth Stage - 15 May, 1949 8

(B) Second Stage— 25 March, 1948 7,
(C) Third Stage — 25 March, 1949 ;
(D) Fourth Stage — 30 March, 1949

Wqﬁm%ﬁmmﬁ@mﬁ
fxRorait a7 Py i & e IH B AR 7
T T fafy
=7
(A) G — 1578, 1949
(B) = — 257, 1948
© gawm - 25, 1949
(D) S = — 307, 1949

125 Who among the following of Rajasthan is

honoured by  Padmashri award

announced in 2021 ?

(A) All of these

(B) Arjun Singh Shekhawat

(C) Lakha Khan

(D) Shyam Sundar Paliwal

§92021 H ehfea ‘et oA § T
3 ford wemfaa T T

(A) Fwf

(B) AR @A

(@) dETEH

(D) TAHERL e

Who is appointed as Chairman of
Rajasthan Human Rights Commission in
January 2021 ?

(A) None of these

(B) GK. Vyas

(C) Mahesh Goyal

(D) Banwarilal Sharma

et 2021 3 FRY TR AHETEERR

STt avea P e T R ?
(A) FHARETE (B] N.F. =
() muTaE (D) mmm‘io

>> ey GHTEAR & el I9a @ e & forg e P <<
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14 Which among the following statements 1S

1?
wrong about great poet Suryama
(A) 5ansh Bhaskar was his famous Epic.
(B) He described the history of Bundi.

(C) Bravery feelings have emerged from
his poetry.
(D) He was th
TEH Hid A
FYTTAT R ?
(A) T WTEH 1 THG TEH1HA 2l
(B) TE 4 ¥ sfvare 1 v foma |
(C) Tt a1 & FETGL i HTa! 1 IT

FaTR |
(B) 3 RaTe % frart @ |

@\ Which of the following edition of Jaipur
Literature festival was organised from

19 to 28 February, 2021 ?
FAR feretat $fas & = & & a6 41

TS 19 § 28 BLEd, 2021 HI A

g YT 7
@) 14

(A) 13
(©) 15 (D) 12

16. Revolutionaries of which place of
Rajasthan gave slogan ‘Chalo Delhi !
Maro Firangi’ (Go Delhi ! Kill
Britishers) ?

(A) Erinpura Cantonment

(B) Neemuch Cantonment (barracks)
(C) Naseerabad Cantonment

(D) Khairwada Cantonment

el fewedt | um foft 1 7 A e

% 8l & FifaepTiar 3 feam o 7

(A UEmeER  (B) Him B

(C) TR BT (D) dETel BrEH
l‘{.  Ramnath Chaudhary is associated w:th

whl_ch musical mstrument ?
(A) None of these (B) Algoza
Pungi

e resident of Mewar.

¥ an  frer & @ B H

"‘MJ

|
|

JlS

|
|
|
|
|
l

»

|
|19.

|
|
l
|
|
|20.

2

: peaks of

heights of following
:;ig%ie t:;)urel]tgm range in ascending
order : S0
5 gglg\?/ara d.  Guru Shikhar
;rm'?ﬂ qeeuTe @ F—'n=r
¥ @ad HH q Gﬂ'afam i :
a, Sl b, ®
c d. 7% et
(A) a,d, b, ¢ (B) a,b, c,g
(©) a, ¢ b,d (D) ¢, a, b,
‘Gulabo Sapera’ is famous in which field ?
(A) Sports (B) Folk Singing
(C) Folk Dance (D) Mukhia
e @’ fRE F fuafig? 7
(A) T (B) e T
(© @i I (D) gt

If the Chairman/Member of Rajasthan
Public Service Commission intends to
resign, then he/she will give his/hgr
resignation letter to : _

(A) President (B) Prime Minister

(C) Governor (D) Chief Minister

M TIE AS JE FAEM w
eI /Hee Telw S TR 2, a’ras
T -9 foRd o 7 —
(&) Tgufd '
(C) Ts9Td
Name the personahty who isa
as ‘Abhinay Bharatacharya’,
(A) Nagabhatta-]
(B) Maharaja Jaswant Sine

(C) Maharanal(“

>> ﬁf&‘l’f HHICH( % CC'IIHIH t{flc'l S \TIS"I g
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2. During 24 hour

plants neither rel
the time of

(A) Twilight
(C) None of these
24 W21 % dnpg Y

Zthere 1S a time when
ase O, nor CO,. This is

(B) Noon hours
(D) Day light

(A) ETE STy
, (B) Heamg
©) FHIRETE (D) o s

When thg MOO0N is near the horizon, it
appears bigger becayse of

(A) Atmospheric refraction
(B) Scattering of light

(C) Total internal reflection
(D) Diffraction

7 ST o % et e 2,
< T ST Ve B |

(A) FYASHT uadH -

(B) RIS o Tehiuis

(@) 9ot 3Tafeh ads

(D) faad=.-

24, What is the normal amount (approx.) of

haemoglobin in a healthy adult male ?
(A) 22 —28 gm/100 ml of blood

(B) 6 — 8 gm/100 ml of blood

(C) 13 — 18 gm/100 ml of blood

(D) 19 —22 gm/100 ml of blood

T Ty 9 6N ERra e h JHr
T () Rpat 8t 2 2

(A) 22 — 28 71./100 foret. T *

(B) 6 — 81./100 foreht. T

(Cy 13 — 18 71./100 foretl. T -

(D) 19 —2271./100 firefl. T

104

Jeg ™

54

LSS R wEER ¥ e S @ S % fory foeten & i SR
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28.

The word “yaccination’ has been derived
from a Latin word which relates to
(A) Hippopotamus (B) Dog

(C) Cow (D) Horse
Ay e & AfeT e 2| cq4q %1
fSraept gav 2

(&) fEm@zd  (B) FAE

(C) TR (D) HISH

Match the following :
a. Apiculture

b. Silviculture

¢. Viticulture

o =5 faremse

a. T~ 1. FREH T
b. ffeameat (2. AYFFE TIEH

1. Grapevines
2. Honeybees
3. Forest trees

c. Tafespean 7 3, -9
Codes / %2 :
a b c
(7 o 2y
(B) 2 1 3
(€)1 2 3
(D) 3 2 1

Sugar can be tested in a Diabetes patient
by

(A) Elisa test (B) Denige test
(C) Benedict’s test (D) Barford’s test

T AYHE W & T U i A
H AT THATR |

(A) Tferan = (B) ==

© R (D) THEW

Fruit ripening is stimulated by

(A) Ethylene (B) Cyto-kinin

(C) Auxin (D) Gibberellin

Fe UEA % g IgEua Y STt

2l St

(A) Tt (B) WA~ ¥

(©) i (D) Rmifem
g p A
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29 Which of the following is the correct

30.

qups lw A} £ til)

chronological order of the given
dynasties ?

(A) Guptas, Kushans, Nandas, Mauryas
(B) Kushans, Guptas, Mauryas, Nandas
(C) Nandas, Mauryas, Kushans, Guptas
(D) Mauryas, Nandas, Kushans, Guptas

= § & # @1 Ry T asE w1 @
FTATTHA @ 2
(A) T8, FT, 75, 7
(B) 3, T8, W, 75 gﬂ
(€) &, WX, T, TH
(D) T, e, FmT, TH
Match the following :
Harappan Site Place
a. Kalibangan 1. Punjab
b. Mohenjodaro 2. Rajasthan
c. Harappa 3. Gujarat
d. Surkotada 4. Sindh
frferfes =1 gafea o -
BT ¥ W‘H
a. HeAE
b. HiEAEE! \2 TYH
c. E§HI 3. T |
d. gwwres 4, fiy 2

Select the correct answer using the codes l
given below :

ﬁhwﬁ*mm@mgﬁ

Examnity.com

31

32.

was  provided

Consider the following statements :

In the reign of Jahangir, Kandahar could

not be recaptured due to

|. Inefficiency of Mughal army |

2. Refusal of Khurram to proceed to
that place. , :

3. Difficulties
expedition. ‘ .

4. Severe cold in Afghanistan

Which of these statements are correct ?

(A) 1,2,3and4  (B) 1,2and4

©) 1, ZandiSE MGy andw W

in organizing an S
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33.

®)

35.

The Indiap N
to fight againg at‘

fOllOWlng events )

2

38 Qlllt Indla MOVeillent

"al Army sy organized |36.

ITeCt sequence of the

Jallianyeigh Bagh Massacre - 37.

Examnity.com

Who out of the following was elected by
the Constituent Assembly as its
permanent President ?

(A) Vallabhbhai Patel

(B) Dr. B.R. Ambedkar

(C) Mahatma Gandhi

(D) Dr. Rajendra Prasad

for & ford wfs A1 310 38 pmzﬁ

Feqe % 9§ AT 912
(A) FeerdwTs Tee
(B) =, #.3. IAEH
(C) wrern Tmeft
(D) & Tz 58S

The elective strength of the Lok Sabha
was increased by the

(A) 40" Amendment
(B) 44™ Amendment
(C) 31* Amendment
(D) 42™ Amendment

%m&hﬁmﬁﬁaham
ﬁqﬁaﬁmhfm
,4o§ashu=r @mm
(C) ﬂim 1%&%&!@
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@9 Which Union

40.

Ministry of India

developed the Good Governance Index
aiming to map the good gpve:manccqof
the states based on various indicators
(A) Ministry of Parliamentary Affairs

(B) Ministry of Personnel
(C) Ministry of Home Affairs

(D) Ministry of Finance : :
A % g HaTed g i ahashi W

Given below are two statements labelled
as Assertion (A) and Reason (R). In the
context of the two statements, which of

the following is correct ?

Assertion (A) :
their own representatives.

Reason (R) India has democracy.

(A) (A)is false, but (R) is true.

(B) Both (A) and (R) are true and (R) is
the correct explanation of (A).

(C) Both (A) and (R) are true, but (R) is
not the correct explanation of (A).

(D) (A) is true, but (R) is false.

e few e 3t aeedl @1 e (A) 3k T
(R) % &9 3 e o man 2 | 21 aeaat
SHed d, P d d S a2 ¢

HYF (A) :

;T B YT B |

((;), (4) 37 R, Tog (R) T R |
(A) W (R) 2l & # o R), (4
A 7 e 3 (R), (A)

© AR W a0 @
B e g TG R), (A)

@) DT TR st

I B
%5 A rij st
Vo Ty
T IOV "_;:‘fiy‘?_.

In India, people elect

was the first Vice-Chairman of
0

]
[ Aayog ° :
Eﬂf;r Raghuram Rajan

- ush Goyal
I‘ (?; ;li};;ala Sitharaman
l

i

.- 4 Pangaria
O i 5 e ST 17 3 7

endment Act of Indian
xtended the reservation for
Cs and STs in Lok Sabha
blies besides doing away
for Anglo-Indian

42.% Which Am
S Constitution €
ten years to S
and State Assem
with reservation

Communities ?
(A) 102" Amendment Act, 2018

(B) 104™ Amendment Act, 2020
(C) 105" Amendment Act, 2021
(D) 103" Amendment Act, 2019

o sy e % ferm geiya st gr
A 3 Tsg it faum wwieT H
Fggfea W T g S %
HRET ! T (6T T o A&
3T TR B T/ 6T o ToTC ST T ?
(A) 10237 e 3rfufrem, 2018
(B) 10431 T arfurfarm, 2020
(C) 1053t F¥Mew srfifrm, 2021
®) 1039t wvitem s, 2019

l

43, i 1 1
l, t‘::lc;:i itrl;te1 followmg Indian states has
um - number of comm

borders with other Indian states ? i
(A) Madhya Pradesh |
(B) Rajasthan
(C) Andhra Pradesh
(D) Uttar Pradesh

‘i'
i
~

|
|
|
l
|
|
I
|

ST el o -
(4) 7o vy ﬁ(;wm;?

f?r&ﬂ AR &

ST el § SIS h [elq Torefeh e <<
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The widest gap acrqg
3 (A) Bhor Ghat

(C) Palghat (D

ofead! 912 &% AR~y qu_g;;;dwa Gap

St ;
];le Western Ghats is !47% Brominated flame rctardan‘ts are used in
) Thal Ghat many household products like mattresses
and upholstery. Why 18 there some

b cone i ?
ern about their use :
(A) I "1 (®) mmﬁﬂ?% | . They are highly .resistant to
©) qTet ¥ (D) & l degradation in the environment, .
’ ) T fore E‘}F 2. They are able to accumulate 1in
5 Match the following : humans and animals. :
* Companies Products | Select the correct answer using the code
given below :
- S - Tronang Steel | (A) Neither 1 nor 2 (B) 1 only
3 sﬂillll i Chemicals ‘| (C) 2 only (D) Both 1 and 2
G - Electricals . AL S A
d. HOCL 4. Aeronautics | YWW ? ?ﬂm’mmm
freferiad 1 giferg =5t . | T s AT TR
smfagt - | R 3% IwEm @ gefd $B AEET F
fas &7
- S 1. 3 wigw § fefem & 3= Ul
b. TH.U.UA. . A | 3
. WRIRTA3 wfwed | o 3 qurt o ot B vt A9
d WAHTE. 4. wETRE e
Codes / < : A fon o %21 & vl S
2 bieSicnpd @A) TRLITH2 (B) FaA 1
(A) 1 2 3 4 C 5 ook
(B) 3 ARSI (©) ¥ (D) 1T&2
C) 3 2. =dS] ; .
: ‘Social forestry” term was first used in
) 4 S India'in
6. Bhakra Nangal, Hirakud and Kosi WA o mﬁ‘ﬁmﬂw U T TUH TAT
projects are situated on the rivers H g1 T |
respectively _ (A) None of these/ (B) 1966
(A) Beas, Mahanadi, Godavari i 4
(B) Godavari, Mahanadi, Kosi |
(C) Sutlej, Mahanadi, Kosi ©) 1976 (D) 1985

(D) Sutlej, Maha"adi’.; .ﬁ;ﬁa ' l49 Which day is celebrated he W
.. ﬂ @.‘ - 2 r
, 3 e ] y ated as the World

3 . Ozone Day ?
AN ___qﬁzﬁqtﬁlﬁt ' I @A) 12 gecember (B) 16™ September
(A) =, TEmd, el | (©) 20" October (D) 21* November
(B) Tirerery, mrEr, BREA | o 3Tt few fob o s e 8 2
(O e, ), B | @ fEw @) 16 f
e (6)‘#@,%;?“' l (© 20 HFH (D) 21 Fa=g
e M TRIEAT THTCR o ST Hel © e o [ foeidh e <<
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On 31* August, 2021, nine new Supreme
Court judges took oath. Now the numbc?r
of woman judges in the Supreme Court 1S

31 37T, 2021 %) FETE AT & A T2
I 3 IOy A | W warE A §
afger il st G691 &

(A) None of these/ (B) 4

$H A HH TE
@ s
On 1* September, 2021, who inaugurated
a parliamentary outreach programme to
~ empower Panchayati Raj Institutions
(PRIs) in the Union Territory of J & K ?
(A) Shri Rajnath Singh
(B) Shri Narendra Modi
(C) Shri Amit Shuh
(D) Shri Om Birla
1 RE=R, 2021 # T W FHyvR
ST &5 F G T e

W B & o sude v st
I e fpan o 3 E
(A) AT e (B) o e s

- (© AR (D) i e

@ The Indian and Alger ;
) g€rian  navies
 conducted their first ever naval exercise
;’fz;h"w"?af sglf Algeria on August 29
- <Y<l Which ship t e ¢
{gg INS Teba: P represe nedInghq?
B) INS rya ' _
) -
(D) INS Trishy]
-'h. Y a-q@ 2021 ﬁ . % .
BN L3 ﬂﬁdlliql_]_“____r HHEde I
Sresifean s g yoy |
e L et st

4" _-\_F )

(D) 6

51.

Examnity.com

N

33/

54.

1t September 2021, SBI opened & i

floating ATM on

(A) Nakki Lake, MOU
(B Naini Lake, Nainital

C) Chilka Lake, Puri

Dal Lake, Srinagar
12 e, o ¥

() e 3, Tt
®) == 3, AT

Ujjwala 2.0 (Pradhan Mantri Ujjwala
Yojana) launched on 10" August, 2021 at

(A) Gandhinagar, Gujarat
(B) Panipat, Haryana

(C) Mahoba, U.P.

(D) Bhopal, M.P.

IS 2.0 (WUHE IS A By
__ #1030, 2021 1 SRR e |
(A) MR, T
(B) Uriud, i
() wErm, 7.4, |
(D) Wirer, v, NP |

A0S b

hof the ol

0
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56 Which of the following pair of Central |59

N
@

By

"mrﬁafﬁsmwt?

Government Scheme and its launching
date is incorrect ?

(A) Samarth Scheme — 14 May, 2020

(B) Atmanirbhar Bharat Abhiyan — 13
May, 2020
20

(C) Mission Karmayogi - 20
November, 2020

(D) Pradhan Mantri SVANidhi Scheme
— 1% June, 2020

%ﬁmﬁmﬁr@a—ﬁswﬁﬂﬁ
it ¥ freffae gt i & B @ A
TER?

(A) T ST - 14 WE, 2020

(B) et W aafrrm — 13 78, 2020
(C) Tormm st — 20 Faw, 2020

=

o
l
\
|
n |
I
|
I

!
@ |
l
\
I
l
|

(D) SuTwE wfafn e — 1 5, 2020 #E

Which State has appointed Sonu Sood as
the Covid Vaccination Ambassador ?
(A) Gujarat (B) Haryana

(C) Maharashtra (D) Punjab

 fpE T X W g ) IS SFH D |

TraTe % w9 # frge fFa 2 2
(A) TR (B) Bfmm
(C) WETg = (D) 9T

{ Who has been honoured with the
prestigious 51* Dada Saheb Phalke
Award at 67" National Film Awards
Ceremony ?

(A) Vinod Khanna

(B) Akshay Kumar

(C) Amitabh Bachchan

(D) Rajini Kanth

678 T¥E fhen qER AR § R
yfafya 513 T ERE Bleh [EHER @

|
|
|
I
I
l
|

|
|
|
\

11

60.

61.

Consider the following statements

regarding Krishna Nagar of Rajasthan :

1. He belongs to district Jaipur.

2. He won gold medal in Tokyo
Paralympics.

3. He won medal in Para-badminton
Men’s Singles SH3 event.

4. He is coached by Gaurav Khanna.

Which of the above are correct ?

(A) 1,3and 4 (B) 2,3 and 4

(C) 1,2and 4 (D) 1,2and3

OW%WW%Wﬁm

oAl o feram HifT
1. a8 s foret & Hafd 2 |
2. Eﬁ S Foferfem # w0l 9eH

3 ﬁﬁ fu-dehic? oY THE SH3
yferfiran # aeges S |

4, 38 i = g wne e |

TEFH A AR AFE & ?

&) 1,334 (B) 2,334

(C) 1,234 (D) 1,233

= § § frg fasea 5 mft v=g) § 3T
YT T (ST AN IR ?

(A) ufige, FIE

(B) 3Tq:suiiE, 6

(C) SfEHH, JEATH

(D) JURTS, U

o i & P g 1 W -Tered W @
(A) Trergem =@ + e

(B) Fefefew = T: + fegd

(C) Tt = 7m: + A

(D R = T -+ T

Examnity.com
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62. g fmeq i fadm TH 2 7 |7 W.Wwﬁm

(A) dqe-waea  (B) fow-fate } 5 Gorep A HEATT
(C) 9e-va (P) Fpa- T } © yﬁﬁ%ﬁaﬁﬁ?ﬁ%m f
, HET
63. Preferfan wedi w fasm i { (9) T
|

1. 37t un frd e " | ‘Adjoummen; :TE <l
i | e fay o TR AT R |
3. i | Ay B) famf
4. SETHYO )
o ) (D) IR
fore farpe 3 ol T MG 7 ; () W&
(X 13K 4 (B) 1,233 |69 e 1 gfE @ e R g A
(C) 23K 3 (D) 334 { ' 27
64. Pt Wz et @ 7 ST 7 { A mwm&ﬁwg%l
(A) &% B) sreahE | 0 B, S B ST |
©) fam D) FHIRT (C) T UTS ITE HEAT 2 |
. (D) F& %S Th A AL # |
65. Torm foreey o yreg—m &1 37of-Ne gt 7 |
i | |70. g STy % foqu Tl T8 2
: e ;
=g a9 s
; W T s fer -
(&) afe-amdt —  sim-Ft o & .
(B) ¥gd-9¢4 - Qrﬂt-'g@ !

©) fF-d7 - fegw-roa
(D) 3wF-anm - 2t-wafea

|

|

|

P fae 8 wnf g e wafraeh }71.

(A) T, whta, Fferer Il e o s e w8 2
' (]
I
|
|

g7
@) =eft, T, wd (A) Conclusion — ST
(C) forsu, Tefafy, maven . (B) Assent S
(D) R, g9, sumfy © Defamation _ ‘THBTﬁ
(D) Infg i :

1 o
; R L BRI |
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88.

89.

91.

In India, the rate of growth of population
is 15 percent per year.

(A) Probably false (B) Data inadequate
(C) Probably true (D) Definitely true
et 3, ST gy e ad 15 e 2 |
(A) B¥EE: T (B) A 3

(C) dyEa: §& (D) faffa w1 @ wHl
India is self-sufficient in food pr‘uductinn.
(A) Probably false (B) Dcﬁn.ncl}' true
(C) Probably true (D) Data inadequate
\TE W IeTed # et & |

(A) dwa e (B) Rt ET A EE
(Cy dvaa: §& (D) T 2

A man said, “This girl is the wife of the
grandson of my mother”. How is the man
related to the girl ?
(A) Father

87-

(B) Husband

(C) Grandfather (D) Father-in-law
T e 3 58, TR e 30 7 5 9

T A e A A g R 7
(A) T (B) fd
(C) Fm1/2IE (D) Fgt
If “QUIZ’ is coded as ‘RVJA’, how will
you code ‘CLASS’ ?
IR «QUIZ’ F1 ‘RVIA’ Ffea foban mm 2,
1Y “‘CLASS’ 1 e T 147 ?
(A) TTBND (B) NCDFQ
(C) DMBTT (D) BMBUU
A walks 10 m North, then he turns right
and walks 10 m. And then turning left
each time, he walks 5 m, 15mand 15 m
respectively. Now, how far is he from his
starting point ?
(A) Zero (B) 5m
(€) I5m (D) 25m
A IR g 4§ 10 Hiet Feran 8, firt ag gt
R ggaht 10 Hiet =erar § 3% o # v

- SATE g 98 HEY: 5 Wi, 15 Higt qun

15 et =ea1 2 | 378 98 39 3 farg |
fefigfimer -a*s%a‘i
AT B SR

92,

93,

oW

94.

Five friends A, B, C, D and E are sitting
on a table. E and B are sitting together. E
and C are sitting together. A is on the
Extreme left. B is second from extreme
right. Who is sitting between A and B ?
(A) Cand E (B) Only D
(C) Cand D (D) Only E
Tt fir A B, €, D AT E UE A W AR
BiEmnpum 428 EamCam
BiAamignmd, Badon dgam
AT B % g 14 43127
K) Camg (B) 44 D af
- al
(C) Camp (D) FaAE  P°

Suresh is older than Jiten but not as old
as Samir. Piyush is older than Nitin but
not as old as Jiten. Who among them is
the oldest ?

(A) Samir (B) Piyush
(C) Suresh (D) Jiten
@ 39 § fed | " @ w adr e

& | figy ffem @ =1 @ w s e
LR LR RS e h S
(A) TR (B) dg s> 3727
(C) g (D) s

Which one of the given responses would
be a meaningful order of the following
words ?

1. Seed 2. Frut

3, Plant 4. Food

(A) 2,1,4,3 (B) 1,4,2,3

(€) 3,1,2,4 (D) 1,3,2,4
forferftaa wra) 61 arelqel shw e m i
| 1 |1 TH BT ?

1. - 2.- &

3, - 4. @™

(A) 2,1,4,3 (B) 1,4,2,3

(C) 3! l’ 2!4 ‘65) 133s2s4
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95. Choose the odd one out from the given ]99'

96.

9

98.

alternatives. i

Fr3y ) Foyepett & @ Forem B S |
(&) 500-18 (B) 40016

(C) 200-8 (D) 300-12
Which letter will replace the question
mark ?

v FRrg 1 T S F1 A A 2

|
|
|
|
|
|
|
|
|
l
|
100

Ashok went 8 km South and tumedl\\lvesl:
and walked 3 km, again he turned Nort
and walked 5 km. He took a-ﬁnal.tum' to
East and walked 3 km. In Wthh‘dlI'eCthn
was Ashok from the starting point 7

(A) East (B) South

(C) South-East (D) North-East
et 8 . =, aftor ot aee 7T 3R afem
£t 7w gg 71 31 3 fop . =, e a R
I o) o g8l 37K 5 T Y. =en | I g

£ ars nfad qre ferar 3 3 6, 5@ |

310 31T foig & 37emes A i fewm H o 2
(A) (B) e
©) - (D) IW-T

Q . Which letter will be 10™ to the right of 5%
(A) O (B) Y from left end in English alphabetical
() L (D) W series ? =
Supply the right letter for the Question 3ft ot Quﬁ #ard o A 59 W S
Mark (?) : ‘ ZRff 3 71 10aT 318 w1 G918 2
Tl e H v g (2) T (AF O (B) P
CGKOS;AEIMQ;EIMQ? (C) R (D) Q
(&) U (B) S .
Vv O T 101. D’s father is B’s son. C is the uncle of D
| and A is the brother of B. How is A
From the given pairs of words you have related to C ?
to select the pair which is related in the (A) None of these
same way as the words of the first pair. (B) Son
Music : Guitar : : ; (©), Uncle
(A) Word : Word Processor I (D) B i
(B) Water : Tank ' £ ﬁ: P St :
(C) Pen : Pencil D BT %IC,D?W%W
(D) Nose : Face , A,BW"T@%IA,CQQ-T@W&H%?
S ’ (4) AR (®) ¥
:{:ng mgwg%m&’iaﬁrméwﬁm | (©) e (D) wTg
e “ |102. 1f “SOUPS’ is coded as “SPUOS’, how
(K5 T2 - 7 ST | will you code ‘TENDER’ ?
®) T | 3R SOUPS’ # ‘sPUOS’ fea e
(C) Fom : R | 2, 3 “TENDER’ 1 e 7 serd) 9
(D) 7% : ¥z | ) spmMepQ  B) xIRHIY
2 (Y REDNET (D) WHQGHU
25 de f 104A
— A3 2 :
e, 1) yarl s
LT s t ke
s ¢ : o . /l"% E_é’—L Hs :
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- . g

. ]ays P’ Q’ R’ S, T
SL“ pd from Moﬂday aa:d L0) are to be

b 4a8° : Directj : Study the
¢ 8 day, NOt Necessarj) in ending op |I"n1l:fvi:::q (Que“m.m 1o t,n 1321)- th:zu gyiven
5]1), R is stageddon TUeSdayS;r]l;e o;)dcr. questiong information to ans
stage » Flays P, U
g m;ieel' I%Ia 'y -aﬂer the other il|1 IA “Ut'_d arrangement machine when given an
ame or .W d)’ S s Not stage( Input line of words rearranges them following G
Monday OrR ?e nesday, Which pla on la particular rule i, each step. The following is S i
5tﬂged after R 7 ‘ aY 18 |the INput and the steps of rearrangement. "Eh" ;1
& aed P Q; RS\ T g U a.ﬁ’ & T Input : but going for crept te light sir b 3 f
ﬁfm;; 'é I ma Hq o TiER T Step-I  : crept but going for te light sir
b U T Q T ;: AR %) BT, Step-IT : crept going light but for o £ L
L8 B mm U st i  |Step-III : crept going light but for sir te .
ﬁﬁhﬁ welfa T& ﬁ-‘ﬂns RlLEL Hyer | Step-Ill is the last step for this input. ';‘
?ﬁgﬁﬁaﬁ wn ™\ R% | |As per the rules followed in the above Steps, &
o find out in the given questions the appropriate B
(A) T (B) p step for the given input. ] :
03 ©) Q P G 106 @ 108) : fo 1 sy 1 I A -~
, I white means black, black means red, %ﬂﬁuﬁa%aasmm T
' «d means yellow, yellow means orange, & 2 v v B Pam T & /’
orangé means green, green means violet Lalhis T e |
nd violet means blue, what is the colour |11 & 78 & S = # T e = =1 -
of human blood ? ST I A e & | P e #
(4) Green (B) Red 3R g T | i
(C) Yellow (D) Blue : . - i
aﬁmﬂﬂﬁf%m, HAF 31"-5'3%, frawm : but going for crept te 1.gh | :
7@ & 3 & die, den w1 o g aoh, (S : crept but going for te light sir
i 1 374 B &, R’ # 3d % Tt 3t <I-11 : crept going light but for te sir |
He, aFa ? ‘ ‘
b e & ’ ST JW-III  : crept going light but for sir te '.
A) & (B) ©1 :
o e (D) e ROL-111 39 Fraw &1 AAfem = R |
s =t # st i 3 srgEr o v i

% Which one of the given responses would |3 fordy v Fordrmr 3 fog IR <ot T L

% & meaningful order of the following |

words ?
. House 2. Road |106. If the input is ‘true se veto be nuke my
. Room 4, Hamlet | like’, which of the following will be Step-

—_—
framg: 0 like’,

# %ﬁ m@maﬁ%@%%

I

I

I

(A) veto true nuke like so be my
(B) like nuke true veto be se my
(C) be my like se true veto nuke
(D) be my se like true veto nuke

Bl @t s 2 6 ® )
'1_7 E@@sﬂu's’e |
ﬂ@@@@)we

77 0@ ¢
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107. If the second step of an inpu't is ‘c]eve,r
remand window sales batch tiger never -
which of the following will be its sixth

step 7 :
o af> fpet Fram @1 GET T R ‘cleyer
pr23 4 d window sales batch tiger never ,
remand wind :
gy 77 ﬁm%%ﬁ%?ésa#w% 18 2
_(A) It cannot have sixth step. /
=g Ta1 S T8 81 Fehal |
(B) window remand clever sales batch
tiger never
(C) clever remand window batch sales
tiger never

(D) batch never sales tiger clever
remand window

108. Input : more fight cats cough sough acts
idea
Which of the following steps would be
the last step for this input ?

3¢9
::3 Ly 1:331 more ﬁg’llt ca_§s cotugh soaugh aects
169 idea .
1 PefaRe o d S Paw R
g Fiferm <o g 2
(A) VI (B) III
©) Iv [(2RY
109, 272 1'7323212‘12 5y
| S
(A) 196 By 300
‘Y (D) 124
110. In the following question, find the
missing number : :
, | i

L 25 aadr n 244 H .6
et s o o %

0
148

111.

112.

113.

If a man spends Z 875 per month apg

1o, of his income, then what ig
saves 12‘2‘ 762

: thly income ?
;}%n%nyévﬁgﬁlm%z 875 @ Ha
St 7o 3T 12%% 6 I=d R,

?ﬁwﬁﬂmmwg?

(A) 21,010 (B) % 1,000
() g0 (D) TLLIO

Find the average of square of first six
natural numbers.

A . sTpfees Tl 3 1 s
7 |

(A) 13.70 (B) 11.17
(©)15.16 (D) 17.20

A bag contains 1 rupee coins, 50 p coins
and 25 p coins. The number of coins are
in the ratio of 2.5 : 3 : 4. If the total
amount is ¥ 420, the number of 50 p coins

1S

w A H | w9, 50 Jar qur 25 9 F
g aen25:3:4%F JgEa d
£ | afe o1 Tl 2 420 B, 50 ¥4 & o
EakCIkd
(AY 252
(@) 222

(B) 332
(D) 454

A cylindrical vessel of radius 4 cm
contains water. A solid sphere of radius
3 cm is lowered into the water until it is
completely immersed. The water level in
the vessel will rise by :

T YRR u foraeh! e 4 &+t 2 ot

 Avg R | e I e Rt fren 3 a6

RH) g I g qo ST T 9 T {6 T8
FUECEHRIEI | U B O T SR S

(A %cm

,((,3 ;%cm
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in sum of
Lrtaln . Mone
L'A:e of itself in 5 Y becomeg three
i me double of itself
bfcimple interest ?
‘s

Eal‘s at Slmple
Years doeg it
at the Same rate

E:) (1.5 years (B) 19 years

| 2 ;f;::z;t x D) 9 years
%‘“‘W@m% ummi@ﬁ
ﬂﬁwﬂﬁmmm%? )
Al 11-5“( ) O

! 123& (D) 0 3¢

 compound interest, if ce
il be four fold in :

rtain sum of
The amount

|"‘-] %’ﬂ years (B) 4n2 years

Joo
0 _2_,1" years (D) 2n years

e = T, Ae e omafiy o
gﬂ@?ﬁ%a‘rnﬁaﬂﬂmﬁﬂ:

) %n CLE: (B) 4n2a¥

¥
L

C) %nz LR @{2n3ﬁﬁ

{45 m of a uniform rod weighs 171 kg,
b what will be the weight of 12 m of
% same rod 9

VB9kg  (B) 45.6ke

U503 kg (D) 632ke

845 e, 6y weperm B H1 3 171
&‘““i,?ﬁmmﬁ 12 i &g 1A
Wrgme

(’\) 339 ﬁ;m vw) 45.6 fep.101.

-. fis 19‘.' r4..--‘- 1‘ .

Examnity.com

118.

|
|
|
|
|
|
|
|
|
l|
s
|

120.

121.

The difference between the length and
breadth of a rectangle is 23 m. If its

- G
Perimeter is 206 m, then its area is 9 :123
(A) 2240 12 (B) 2840 m? W\ ﬁm‘l’j’ 23
(©) 1250 2 (D) 2520 m? = g
U A oy s qen e w23 Y rg
F IR | ofy guep ofmm 206 FE B, H
Fhm E}ﬂw% yoXx §3
(A) 2240 i fizr  (B) 2840 771 HIX ol VI
>
(©) 12507t dymr  (py 2520 7 HIX ~NE 350
7
A trader sold a mobile phone set for “8) 5;1
% 13,560 with a discount of 12 percent o
and gained 21.8 percent. If no discount is f
allowed, then what will be his gain .48
|60
percent ? ' :
T ST 3 12 Whtvera a2 3 @14 T 13,560 p{%’, '
T HaTge WiF A2 a1 31K 21.8 Siewa o , g
frn s dad@ g, ises © 0
AT ST erTa 91 R 2 PR
(A) 38.4% B) 26.5% XX
(C) 42.5% (D) 46.5%
If the cost price of 10 articles is equal to
the selling price of 7 articles, then the
gain percent is {#": o
¢ 10 SEGHT H1 AT HE, T IGH A, o
fogra fiva & o R, A e afawm?
w 42%% (B) 33.33%
(C) 21.33% (D) 51.33%
MBS, g 3 1
8+4(3-2)x4+3-7=7 ")
(A3 B) 4
©) 9 (D) 11 )|
2 -3 rsﬁ
wAY -2
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rectangle 18 increas
g E:f:adth decreased by 10%.

new rectangle :

dby 1% > ,}t‘:*[ﬂ

122. The lengtlj
10% and its b
The area of the
A) is decrease
& EB)) remains constant. ;
(C) is increase% l;y 11 1I O/.:;

' eased DY
Q(];);ﬂ?;%éﬁ'@@ 10% FeraT T a4l
S <herd I 10% A T T

F1 HIFA

(AY 1% T T E ;
42 (B) Qa;a'qﬂrsﬂ'f'gl

& (C) 11% TG 2 |

(D) 11% &M |

@ If the price of banana is decreased by
~ 20%, 5 bananas more can be purchased

for the same amount ¥ 10. What was the
initial price of one banana ?

(A) None of these (B) 65 paise

(C) 55 paise (D) 50 paise

3fe Fat &1 Fiwd B 20% T @ ¢,
I TR 2 10 7 5 Fe AT Tl I FHd

NN
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1ft,

which is the i

(A) None of the X

(B) Private o .
(©) Wmdowspgrat‘

(D) Open-SOUrQe erating_SySIe
Cail N Sl “?m():}f%;a““g Sy?tcm
@) T ARy 2

(B) TTRIE FTery iy

(D) W—mﬁ%m

W’thh of the fO"oWl"n .
¥ ssahardware ? . &1SNot considered
(A) Hard disk !

(B) Operating systen,

1 P

Perating System ?

(C) CPU 0
st s
fa= T :
T & 2 Eﬁm*mﬁmw
(a) T fowp By w=rem a3
;1. Computer Monitor is ajsq known as
S wTH ot
ST g |
@) VDU (B) DVU
(C) CETV (D) UVD

(12, You organize files by storing them in

(A) Lists (B) Folders

(C) Archives (D) Indexes

M ' T WERU
FARA FAE |

(&) gt ¢B) et

(C) FHehigal (D) FeEl

8, MS-Word is an example of
(A) An Operating System
(B) An Input device 7
(C) Application software
(D) A processing device®
MS-Word Teh IeT& 8
(A) yr=TeH A T
(B) frarwr gfera b1
(YR ich ok LRl

(D) srsrwor e T
INA

| 134. Which of the following programs enables
You to calculate numbers related to rows
and columns ?

(A) Word program

(B) Window program

(C) Spreadsheet program

(D) Graphics program P )
foe i & g 1 ST AT T 3 R

6w s ) o O GRS R 2
(A) =& s (B) fams! s
(O Bregsfe st (D) HFE FAT
135. What is the maximum length of the base
filename in older MS-DOS FAT file
system ? X
T MS-DOS FAT et Jomedt & ¥4
Tl AT 1 s7fkrRan erEATs #4127
(A) None of these / 5T B g TE
(B) 4
(&) = !
()2
136. LAN stands for
LAN %71 q01 9 &
(A) Line Access Network
(B) Local Area Network
(C) Large Area Network
(D) Land Area Network
137. What is the meaning of Booting in the

|
! operating system ?
(A) To turn off
I (B) Restarting computer
} (C) Install the program
(D) To scan A
| e d e 1 e R
| (A) sEwE $
| B Fe ST T
| (©) st s w
I T T

—‘ .- ! - o o i,-'_'""q:
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138. Which typ¢

: t
of view 15 5

MS-PowerPoint ?
(A) Normal
(B) Extreme a"
(C) Slide sho¥
(D) Slide sorter
MS—PowerPOmt

m% (B) g?: ;ﬁé‘r;ﬁm

(¢) =S M (D) | =
139. Microsoft Office gharePoint Designer

used for o |

%S)) ‘I:or\l?\c}&eg}WYG HTML editor and

140.

i ogram for customizing
‘Svlffrglgzli%? };}rapglications, it replaces
Microsoft Office FrontPage.

(C) Project management software to
keep track of events to create
network charts and Gantt charts.

(D) Diagram and ﬂowcPartmg software.

foe 3TTTed

IR FETER 3%
forq I9ETT BT & -

(A) 78 & H7E TE _

(B) @ WYSIWYG HTML HUICH R
Sz T W HEATES B
fyu 39 fesed Tam, 98 TSHER
T Theds 1 M AT R |

(C) Tz =ré 3R Feaeh =T H M & fef
AT &1 ¢ T 1 URESHT Ja9A
AT

(D) U™ 3R FAETE T BHRAT

Which of the following is not true about

RAM ?

(A) Information stored in RAM is gone
when you turn the computer off,

(B) RAM is a temporary storage area,

(C) RAM is the same as hard dig)
storage. :

(D) RAM is volatile.

RAM % fére famt

, In Rajasthan,

143.

Whicu wa ~=-=

an input device i

(A) Printer (B) Scanner

ker (D) Projector
%gg%m@,ﬁ%ﬂﬁmm
27 TH
\) fiie By
58 T (D) SSi&T

the post of C}iﬁvemor s
the Raj Pramukh. On 3(tb

SMu;::ti?Obt%, whenJ Greater Rajasthan

State was constituted, who was made the

Raj pramukh ? .

(A) Maharana _Bhupalsmgh

(B) Sawai Ja:smgh

(C) Sawai Mansingh

(D) Mahgrasﬁi};:;‘mgrlgga 1

et 2 | 30 W, 1949 FI, 79 gaq

o T 1 A fehdT T, T8 Tee

fop@t T T 7

(A) TERT ¥J

(B) _

HaTs AHIEE
(D) werE fifig

Consider the following statements with
reference to Lokayukta in Rajasthan :

1. Justice I.D. Dua was the first
Lokayukta of Rajasthan.

2. Lokayukta shall not indulge in
business.

3. He should be a member of

Parliament or Legislative Assembly.
T 3 S o S 3 e
TSR
HYA W fomm i ;

1. =refd 3g§.€r. T TS o U
éﬁﬁlﬂaﬂ |

2. Ry SaEr o e T8 8w |
3. %mmﬁmwwmﬁm

iRy |
ST AP A TR E ¢
(il (B) 1,2,3
©) 2,3 7)) 1,2
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)\i’p-Thewa Al't - "’lng Pair is i“COrrect 9
43 ) Meenakarij f;?tapgarh ‘
‘\L_) Ajrakh Print Sa‘;’“P
\D] Teraccé'tta Art _ * ]ganer
i e Olela
e T ey 27
) T wg
o FIE e = o
yich of the followin
Tourism Place -
A) Kailadevi temple _ I(ara!'l:]c't
o) Bhatner Fort 4 1
¢ anu
;) Menal _ Ajmef:“}ngafh
n) Osian ~ Jodh
v . pur
sriEd H 9 I W ey T2 7
e e e
) FoTce AR — ik
3) SR g — TR
() FT . — 3R
D) TGt — SR

-1903, who imposed ‘Chanwari’ across
s jagir holdings, which everyone was
mected to pay at the marriage of their
aghters ?

| Bhoop Singh

) Rao Krishan Singh

3 Rao Prithvi Singh

| Kesari Singh B,
11903 ﬁ%e%amﬁﬁﬂ’m@ﬁﬁ b
Vo, frd e 1 ST A P

Wy e sy e 7 :
e @ T

myde @ O
‘ ' v

ﬁ}w.

.—-'-"—.__

23

. Read the following

149.

The famous saint of Medieval Mev:laatswas |
(A) Sundardas (B) Chara® das
(C) Laldas (D) 'Hanram

facts about the Vijaya

Stambha (Victory tower) qf Chlttorgarh s

1. This is popular that 1t was built by
Maharana Kumbha.

2. It has total 11 storey. -3

3. There is a statue of Jaita carved in it.

Of the above, correct facts are

ferdramg 3 farsr i 3 &t 3 Fod @ 1

ufed

| % wig & f T mEwom TR A
Fq4GET U1 |

2. sEhIpA 1A E T

3. zgH i gfd I 2 |

I o T A &

(&5 1,3 (B) 1,2,3
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Which of the following are
contiguous districts of Rajasthan ?
(A) Sirohi, Barmer, Jaisalmer

(B) Jhalawar, Bundi, Tonk

(C) Sirohi, Pali, Jalore

(D) Churu, Jhunjhunu, Jaipur
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150: The constitutional status was given to

Panchayats under article :
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